Name:___________________________________Period_________
1. Simplify the following expressions. (Do not use a calculator)
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a. ________________      b. __________________      c. _________________      d. _______________      

2. Simplify each radical expression (no decimal approximations and no calculators)

   a. 
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3. Factor each of the following expressions:
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4. Simplify
a. 
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b.
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5.  Write an equation of each line described below.  Write answers  c – f   in 
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       Show appropriate work.

   a. vertical line thru 
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e. line thru 
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       f.  line thru  (6, 2) 
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6. Solve each system of equations.  Show key steps.

    a.    
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7.  Use the coordinate planes provided below to graph each system of equations.  Identify the solution.
a.
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Sol. ____________       


 Sol. ____________   

a.                                                       b.                                                   
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